within this sector. Since the services of the Welfare State are deliberately given to the public, they
are supposed to openly assist everyone within the tertiary sector, as well as reduce the number of
manufacturers within the secondary sector.

Conclusion

The manufacturing based economy has been taken over by the services based economy as the
leading sector of the UK. This is because there has been an increase in the demand of people’s
services rather than goods, UK manufactures have lost their competitive position to better
positioned countries, and the expansion of the Welfare State has vastly increased the amount of
services within the UK, resulting in the services sector to be economically preferred.



